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MTH 418, Graph Theory, Exam Three
Ayman Badawi

QUESTION 1. (15 points ) Let G = K3,
(1) Is G an Eulerian trail? If yes. then construct such trail.
Y al Ges —7 V. fWo
m\b 2~ 2 Veriices witA o de,&ree sodd

bl B 3~y
4-l—g5— 2-y— 3-5 (/7

ﬁ Ob” vevh ey
(ii) Is G a Hamiltonian path? If yes. then construct such trail.
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(iii) Find the chromatic number of G -
x(6)=2 ¢
(iv) Draw the line graph of G.
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(v) Find the Edge-chromatic number of G and the chromotic number of L(G).
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(iii) Prove that Peterson graph is not a planar. 10 \< \5-6 = (\,Sr\-#raz“'“m Kg s 1)0* P
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(v) What is the chromatic number of Qs? prove vour claim.
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(vi) Find the dominating number of 3 and construct such set Q \ |
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(vii) give me an example of two graphs G,.G» such that L(G,) is graph-isomorphic to L(G»). but G: is not
graph-isomorphic to Gs.
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{viii) Find the degree of each vertex of L(I\g) How many ___g__sdoes L(G) have? v A .
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